2

o4 F

B
=
y

I

= (A Mz 5)

e B A BRI ISR R BESS mE - RAEES

AT, BREHE O FHEF IR S EAER L 2R EO— %,
ABBVREDSELL TR T 2bD T, K LZhaRR 560
TEHVFEEA,

A A4E1H HAhE

AL T T KB | Jy 2 S T




BB BRI [RGB AR B i - BB

4 b i g Hifr| #&E | B & i 5|l B
FUREEAE (B ER) X 1 BN E
BRiE (L8 E) 2V 1 H2 N E

&t

(CEFARS)

THE B 4 KA R MR D10%
&t

G ZtHE)




AR E M (B ER)

J

e e NPT e S D e N

] 122 il Bk fif TR S JEVE(R)
57 3 SRR U - SRR R SRR LY

4 g B g AL | %% & | Bl 4 A W%
[ERFZS5E 3¢ X 1 H1-1NFE
AR X 1 (LI YEP.386)
[R5 Y- = 1 (PR FEYEP.387)
&t
(BB S - 2 i )
IR (R57) = 1 (PR FEYEP.388)
B
Gl s - 3 )
Bl sy = 1 (FE 5 H:HEP.390)
RREE T = 1 (FE L HHEP.390)
&t
(A5 3 TR )
— A R = 1 (PR FEYEP.391)
&t 7 M R
CEBMRE)

FLIR




IR TR K

H1-1NRE
£ FR ¥ B BT & i & FA fis 2 W
SR T
R N HE KRS
J=i 1.0 1
R ]
(7H)
B PR S R - 7.0 2
(4~6H.8~11H)
H A 4.0 3
TR ]
(12~3H)
R HE KIS
A SRR [m] 1.0 4
(7H)
B PR R - 7.0 5
(4~6H.8~11H)
H S 4.0 6
TR ]
(12~3H)

5

FLIR T



AW vt = i ﬁk s
S R R I L RO ——
No. wmooH HAr[ B P O He g i B
1 |55k BRI IRAT T 13.27 AX R3.3H
Gersesehs) gk | [A] M %5 s B
2 | HER SR Mt IE PRl T 5.28 A X R3.3A4
CoRTER) Pk | [A] M T 57 %5 B
3 | B B EIRA T 2.31 AX R3.3H
CoRTER) Pk | [A] M 1757 %5 BAh
4 |5k BRI IRAT T 13.94 A X R3.3H
o ) E| 8| 55 5 HAl
5 | ELERL SR Mt IEPRfT T. 5.28 A X R3.3H
(B R IEIB AR ) = 8] %5 B Al
6 | B SRR BEMERIETRAT T 2.31 AX R3.3H
(B R IEI AR ) E| 8| 55 B Al
oW W




BiE(LE E)

E e PN e NG 2

%2 5 N ERE CRFEY LA, B S1)
HAE T T A7 B £ B | 48a0) g%
1 HimiEY B (BH) THERT 10
2 HimEYE (RH) 1RRA 10
3 AR R (kD) 1RH] 0
4 IRt ER R () 1IR¢H 0
5 AR T (B 1IR¢ 5
6 R fifHE T () IR 5
7 WeihhT o ERR R (4t, BLRE) 1RRA 0
8 WeihhT o ERR R (4t, ) 1RRA 0
9 Wt T2 IR (11t, ) 1RRA 0
10 WIENT 7R (11, KH) 1R 0
11 F7TL—r L —iling (251, B | 1R 0
12 F7TL—r L —iling (251, ) | 1R 0
13 7R () 1IRFf] 0
14 Ry 7Ry R (B H) 1IRFf] 0
ey

XILRY TRECH oM@ ESE R B (Biik ) ORGETI L, FERBRZ ST EELL ., & TROREE R LI O THRORR

Hifilied%,

SR (RE R 13X TR AR L5,
72720 BB I AR S TR L L CREL72b O THY | REEDBIT2RE T 5L O TIER,

HEE e R (BM) 10 g
TmrE¥E (&) 10 1|
S b L (RAFH)) 5 B
RO T () 5 IRF [

FLOWE Tl




FRBEHRARE

R TEMBEENRE LT T R e A R B A 22
(3B B - LR T30 B0 1)
[ % 5 | 1
(%4 HEEXE (BM) 1470
— qu
E i) A = Bpr| o & | W Ofli | & %A i =
e L f
A 0.125

Atk #2(48.16%) SR RSy B e

& (LW 2% 7-0)

LR T



